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11 B.Com.(Gen.) DEGREE EXAMINATION, NOV/DEC - 2024
COMMERCE
Advanced Accounting
(Semester - 111) (Major)
(w.e.f. 2023-2024 Admitted Batch)

Time : 3 Hours Max. Marks : 75

SECTION -A
Answer any FIVE of the following questions.  (5%5=25)

1. Features of Non-Profit organisation

eREIRIBS DOPe KT

2. Differences between Single entry system and Double entry system.

2063 HE GO B0 HLY DR 065, Brsoen

3. Calculation of Cash Price
O HHBD BB
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4. Fixed capital and Fluctuating capital systems

Qémmagouwmomago

5. New Profit sharing Ratio

VRES engispe OHY

6. Methods used for valuation of Goodwill

D8 HS Desd B Heiden

7. FirmDebts and Private Debts

K)OQ 200063200, PO 2200659

8. Modes of Dissolution of firm

éo@dég éoaogen.
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SECTION-B

Answer the following.

(5%10=50)

9. a) Howdoyouprepare Income and Expenditure Account from

Receipts and payments Account?
S072eY WHOD OB {0 BLROD &,01Re FREeiD
& o BOTRLD TR
OR '
b) The following is the Receipts and Payments Account for the
year ended 31 December 2023.
Receipts X Payments k4
To Balance B/d: By salaries 2,000
Bank balance 3,000 ByRent 600
Cash balance 500 By stationary 1,400
To Subscription By Postage 250
(including 400 for By Scooter 17,000
the year2022) 19,500 By Fixed Deposit 4,000
To Interest on By Balance c/d:
Bank Fixed Cash at Bank 1,500
Deposit 200 Cashinhand 250
To Sale of old
scooter 3,800
27,000 27,000
- Subscription due for the year 2023 are 1,500 and received
in advance for the year 2024 are 700. The written down
value of scooter sold was 4,000. Depreciate the value of
scooter at 10% you are required to prepare Income and
Expenditure Account for the year ended 31* December
2023.
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31.12.2023 &5 eossicd, K08 S5DRey DYoL ©

gwe Bod HoDHar&se.
Sime gou D908 s
To 895 0e, By deeen 2,000
eRO% 3,000 1 &G 600
5565 500 I &S 1400
TR 250
To <Somen 19,500 11 QR 17,000
(20225011
8 4008° H3H)

To $BGANAS D 5§ 200 1 $B5 &AS 4,000
To 308 Amixd Ko 3800 BYS 00,

ALToLCY) DO 1500
VgAY DO, 250
27,000 27,000

2023 D01 8 D555 TI0wee 1500 S 2024 HoId
SOOI HYD TSoween 700.080,85 ‘&m&éodo
880585 D0 4,000. DIEH 3 10% B DD

D508, 31.12.2023 8% ©0BKAR; 0118 0D
B0 §RB? K0 BALAD WOHOB.
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10. a)

b)
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What do you mean by single entry system? How do you
ascertain the profit in single entry system?

8083 DY DPOF0 BBMPI? 8,083 HS OGBS’
eogRR DGO BB0HEH ?
OR

Bhanu does not keep proper books of account and he is
able to give you the following.

142023  31.3.2024

Cash in hand 5,350 5,400
Bank overdraft 45,000 40,000
Stock 59,350 62,200
Creditors | 38,600 37,200
Debtors 30200 29,800
Bills Receivable 42,400 40,800
Land and Buildings 53,000 | 53,000
Furniture 4,600 4,600

Durihg the year he withdrew 6,400 from business. Provide
depreciation on Land and building at 10% and for doubtful
debt at 5% on debtors. Ascertain the profit or loss.
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142023 3132024
Ak 55> .50 5,400
eO) 505 ?;3 A5,000 40,0600
DD Do) 59,350 62.200
 idadt i 38,600 37,260
S0 FIRD 30,200 29.800
DR Beyen 42400 40,800
mm&) 53,000 53.000
PGS 4600 4600

VOS5, ,606° T ME0 5508 6400 o0
aaczoéoagcb. P;inme;fémoio 10% BSOS OK
DORHROD 0D end DOPD 5% DS WA,

eREISIPOD B8, 808,

-

11. a) Distinguish between Hire Purchase System and Instalment

SA-870

purchase system.,
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OR

b) Krishna purchase a Motor cycle on hire-purchase system.
The total cash price of the Motor cycle is 15,980/ payable
4,000 down and three further instalments of 6,000, 5,000
and 2,000 payable at the end of first, second and third year
respectively.'Interest is charged at 5% per annum. Pass
Journal entries in the books of Krishna.
%@Q&&ﬁsw&ga&d&émm
82506500 SRorthd, Breeatsh Be 55 655 15,980)/-
®OLD 4000 B ab IYod Qs 0w Sasedd
SRAVROS Ftk3, oGk, 5030@8 5011 SLEH ST
6,000,5,000,2,000 BYo5wd8 @oB500DTE:.
OB 5% SO B, Bedrod, B s Dep Segen
ROk,

12. a) Explain the various points to be considered to calculate the
amount due to a retiring partner.

&8 gt DEODTDH B BPOSHORS
BTRRY EDOX BB HOEBOLSTORRS XS ©OTD
DBOOIOB,

OR
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b)  Ajay and Vijay were partners and sharing profits in the ratio
of 3:2. Their Balance sheet as on 31* March 2024 was ag

under.
Liabilities X Asxts X
Creditors 30,000 Building 60,000
Reserve fund 30,000 Fumniture 20,000
Ajay’scapital 60,000 Stock 40,000
Vijay’scapital 50,000 Debtors 36,000
Cash 14,000
1,70,000 1,70,000

Rajiv is admitted with one-fourth share on following terms.
)  Hewill pay 20,000 as goodwill

) He will bring 20,000 as capital and other partners
capitals are to be adjusted in the profit sharing ratio

and for this purpose Current Accounts are to be
opened.

i) The value ofhis Building is taken as 64,000 and that of
stock 36,000

iv) Provision for bad and doubtful debts be created at 5%
on debtors.

Journalise the transaction and prepare Balance Sheet
after admission of partner.
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@230, 0DV §REeT® BOos eRgRSapO 3:2
DS HOTHELOLVTHD. 31-3-2024 7263 BR) ©,0

&3 8o Do éga)
0,0 L, exien ar.
000E3CITD 30,000 g&5Ren 60,000
DL 30,000 asgm 20,000
230D DRG0 60,000  HHHD 40,000
$e30D R0 50,000  20EXFIR 36,000
XD 14000
1,70,000 '1,70,000

808 50O TS 1/4 HOB STeTE® 8RS

3@5“59

B (HEDHS OO 20,000 E0EHTHB0

ii) BB S5 ot HOROGDHOTe 20,000 SO
0S5 G50, DOTE RPN HIRV (S TPODI
eREROERO DN &° DL et SR WOLHEHo
BB008E0) SPU0PO DT

i) gESTROD 64,000 O HHHEOLD 36,000 © B

DEBELHSD

V) 2w JaRed DoIoRg, ende DPD 5%

RSB0

SBOCEODETHEROD 508 TS HBBOEDD BB
sRe5,0 HEO SaHRd Bobob.
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13. a) Whatis Realisation Account and cxplain.the differences
between Revaluation Account and Realisation Account?

DO GrEss BB TEYBER,ER0B0 FRBI,
DO, froesstss H63, 50 BapeRd BEOL.
OR

b) A, Band C are equal partners and their Balance Sheet on
31* March 2024 is as under.

Balance Sheet

Liabilities X Assets k4
Creditors 1,00,000 Cashat Bank 15,000
General Reserve 30,000 Debtors 20,000
Capitals: Stock 80,000
A 50,000 Investments 60,000
B 20,000 Furniture 5,000
Govind’scapital 20,000

2,00,000 2,00,000

They decided to dissolve the firm on the above date.
Investments realised at 50,000. Stock realised 78,000.
Fumniture is taken over by ‘A’ at book value. Debtors realised
18,000 creditors were paid 97,000 in full settlement of their
account. Realisation expenses amounted to 500. ‘C’ became
-insolvent and unable to bring in anything to the firm. Show
ledger accounts to dissolve the firm as per Garner VS.
Murray’s decision.
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A, B, C e0 558558 §R¢E509e00 dosaze

31.3.202 2 9.0 L
4% ©R) 6,0 HE Bod 5o SR

esR) 9,0 H¢
0,00 SRu  eoen o5
QRS0 1,00,000 eRCHH 15,000
Vg Y]

- oUs OB, 30,000 2000£33R2e0 20,000

S0TeeGIR: DB, 80,000
A 50,000 &) e 60,000
a’agm 5,000
B 20,000 6%t

S0Te0 20,000

I
2,00,000 2,00,000
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DeROBOB 50,000 OK 5505050 78,000 O,
BRN,TD. PO HYY HOSL A B0%apt)
wefiye Si0d 18,000 SDPROO BONS D
EOBESOL PE HOP,BOMR 97,000 BP0
DOP,B Py 500 @SS ‘C’ Oarer BoHr» ©8s
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